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1. Options shown in green color with a tick icon are correct
2. Chosen option on top right of the question indicates the option selected by the candidate

Q.1 2 : ;
Rearrange the following jumbled sentences to make a meaningful one Question ID - 988837900
P: weather conditions across a vast geographic Status :Answered
Q: the climate of India Chosen Option :2

R: scale and varied topography
S: comprises of a wide range of
The proper sequence should be:

A. SRQP
B. QSPR
C. PQRS
D. QRPS

Ans 3 1A
JZ.B
XS.C
X 4D

Q.2 Chocse the pair which is related = the same way 26 the woeds in the first pair from the given chaices.
SOLDIERS 1 ARMY 1: MUSICTANS ¢

A, FLOCK
B. GANG o
C. COLONY Chosen Option : 2

Question ID :988837926
Status :Answered

D. BAND

Ans Xl.C
Jz.D
X 3B
X4.A

Q.3 Thep when the compuser is switched on and the operatmg system gets loaded from hard disk to
main memaory is called - Question ID : 988837858
A. Booting Status :Answered
B. Fetching .
C. Processing Chosen Option : 2

D. Multi-Processing

Ans X1.B
JZ.A
Xa3c
X 4D

Q4 [ )
Question ID :988837843
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Which Indian won the 2014 Nobel Prize for Peace? l

A. Kailash Satyarthi
B. Malala Yosufzai
C. Sanjiv Chaturvedi
D. Anshu Gupta
Ans x 1.C
x 2.B
x 3.D

“4.A

Chosen Option : 4

Q.5 Ifthree mumbers are in the ratic 2:3:5 and the twice their sum is 100. Find the square of the largest of the |
thres oambers.
A, 225
B. 628
C. 25

Question ID :988837873
Status :Answered
Chosen Option : 3

D. 10

Ans XLA
XZ.C
J&B
X4.D

Q6 Who was the first President of the Indian National Congress? |

A. Womesh Chunder Bonnerjee
B. Bal Gangadhar Tilak

C. Allan Octavian Hume
D. Dadabhai Naoroji

Ans ‘,1.A
X2.c
X 3D
X4.B

Question ID :988837833
Status :Answered
Chosen Option : 1

Q.7 What i the sompound mtereet on Rs, 48,000 for 2 years at N%pu..itﬁ?ﬂuwmddumllyi"

A Rs 69120
B Rs.21,120
C. Rs, 76,800
D. Rs. 72,000

Question ID :988837879
Status :Answered
Chosen Option : 1

Ans  of 1B :
X 2p
XS.A
Xac

Q.8 A ladder 20 m loag is leanirg against a vertisal wall It makes an angle of 307 with the groved How high |
on the wall does the ladder reach®

A l0m
B 17.32m
C 3464m
D 30m

Question ID :988837893
Status :Answered
Chosen Option : 4

Ans X1.c
X2.D
X3B
WA

Q.9 Ramsasd, "Sita % my paternal great grandfather’s only eon's cnly davghterin-law™, How ie Sita related [
to Ran?

A. Matemal Aunt
B. Patemal Aver
C, Mother

D, Sister L

Ans x]_, B

Question ID : 988837897
Status :Answered
Chosen Option : 2
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Jz.c
X 3D
X 4A

Q.10 A piece of cloch costs Bs. 35. If the piece were 4 m Jonger and each meter were %0 cost Rs. 1 lesser, then [
the total cost woudd remain voshangsd, How long = the pisce of cloth?

A 10m
B ld4m
C 2m

Question ID : 988837886
Status :Answered
Chosen Option : 4

D. &m L

Ans x1.B
XZ.D
X3.c
,4.A

Q.11 In 2013, the first woman to be elected as the President of South Korea is - |

A. Park Young-sun
B. Yuk Young-soo
C. Park Geun-hye
D. Sim Sanz-jung L

Question ID :988837825

Status :Not Attempted and Mark
ed For Review

Chosen Option :--

Ans XLA
XZ.B
‘/3.c
X4.D

@12 The Mughal cmpire was founded by -

A. Babur
B. Humayun

Question ID :988837832
Status :Answered
Chosen Option : 1

C. Akbar
D. Shah Jahan

Ans «l.A
ng
XS.B
X4.c

Q.13 Two polea of the beight 15 m and 20 m standenichlly upright on 2 plane ground. If the distance [
between their feet is 12 m, find the distince between their tops.

A llm
B 1Im
C. 13m

Question ID :988837889
Status :Answered
Chosen Option : 3

D. ldm

Ans 1A
X 2D
X 3B
«4.c

Q.14 How is Sameer related to Akbar if Sameer introduced Akbar 25 his maternal grandmother™s caly son's [
m’

A. Brother
B. Son
C. Matemal Uncle

Ans  X'1.B
Xac
‘,3.D
X4.A

D. Cousa L

Question ID : 988837896
Status :Answered
Chosen Option : 3

Q.15

Question ID :988837915
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Givenbelow is s followed by acase You Rave to 1ake the grven suatement to be
true even if il seenm 10 be ot varisecs sith the commaly koowe Gaete and then decide which of the goen
concheaons logseally follow(s) from the given ststcment

Statement: {
Ascording 10 2 recens heakh sirvey, people who exerciss for ot leost half an hose every day are N
less gecue to lifestyle diseases.

Conchustons:
L Moderate exescise is easeatial 1o lead o henry life.
1L Everyooe with 20 exercies ca their routiee sutfer from kfsstyle dseascs.

A. Only cocokssion [ follows
B, Ouly conchsion 1 folloms
C. Both Iaxd II follow

D. Neinther of tham foliows

v W
XZ.B
Xsc
X 4D

Ans

Status : Answered

Chosen Option : 3

Q16 (et wram afe owen A sw1 fEw @l SN weEr?

A. (TTGT ( Knight)
B. (@I (Rook)

Question ID :988837837
Status :Answered
Chosen Option : 3

C.%f® (Bishop)
D. 5ifs$ (Pawn)

XLC
"z.D
x3.A
X 4B

Ans

Q17 The oldest oil ficld in Asia is located in -

A. Gujarat
B. Assam

Question ID :988837829
Status :Answered
Chosen Option : 2

C. Arunachal Pradesh
D. Nagaland

Xic
{2.8
XS.A
X4.D

Ans

Q.18 The simple intereet on a certan sum of money invested 3 a certaen rate Sor 2 years amouvats to Rs, 1200.
The compound imsrest om the same sum of moeRs Rivestad A the same eaie of interest foe 2 vears
amounts to R, 1200, Wht vess the pringipal?

A. Rs. 12000
B, Re 16000
C, Rs 60X
[ Re 4000

Question ID :988837880

Status :Not Attempted and Mark

ed For Review
Chosen Option :--

Ans

Xic
XZ.A
3D
X4.B

Q19 Which of the following is false?

Sound waves arc wavcs.

Question ID : 988837846
Status :Answered
Chosen Option : 2

A. Pressurc

B. Longitudinal
C. Electromagnetic
D. Mcchanical

Xi8B
Jz.c

Ans
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XS.A
X 4D

Q.20 Given below s followsd by some fusione. You have to toke the given statement to be
true ewven if it seems to be at vanance with the commealy known foots and then decide whach of the given
canchasions logscally follonds) from the given statement.

Statement:
In sorse tier 2 cities in India, transpoetation s one of the majoe peoblexns,

Conelusions: \

Question ID :988837916
Status :Answered
Chosen Option : 2

L All tier 2 cities are not well connsxted.
11 Lack of transpertation fasiitics is the cnly problcm m Indisa metros,

A. Only conclusica I follows
B. Ouly conclusion II follows
C. Both [and II follow

D. Neither of them follows

Ans XLA
«2.0
X3.B
X4.c

Q.21 Below are given statemnents. You have to take the given smtersents to be tree even if they seem to be at |
variance with the commsonly known facts and thea decside which of the given conclusions logically
follows from the Eiven statements.

Statements:
L All rats ase hills.
1L All kalls are mvers. L

Question ID :988837898
Status :Answered
Chosen Option : 4

A Sceme nvers are rats
B, No river is a hill
C. All hills are rats
D Noriverisara

Ans X1.c
XZ.B
X3.D
J4.A

Q22 How many bones docs a new born human baby havc" [

A. 350
B. 206 ‘
C. 211
D. 411

Ans xl'c
Jz.A
XS.D
X4.B

Question ID :988837850
Status :Answered

Chosen Option : 4

Q.23 Which country built the Bird’s Nest Stadium for 2008 Summer Olympics?
A. China
B. Brazl
C. Australia
D. Germany

Ans XLB
X 2D
WA
X4.c

Question ID : 988837826
Status :Answered
Chosen Option : 3

Q24 Which of the following coloured light has the lowest frequency? |

A. Green
B. Bluc

C. Red L

D. Violet

Ans xl' B

Question ID :988837847

Status :Answered
Chosen Option : 4
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XZ.A
Js.c
X 4D

Q.25 In2015, which auto dacturer manipulated ena testmg data Jeading to the resignation of its [
CEO Martin Wireerkom?
A. Volkswagen
B Ford
C Tayota
D. Gerersl Maotoes

Question ID :988837827

Status :Not Attempted and Mark
ed For Review

Chosen Option : --

Ans Jl.A
XZ.B
X3.c
X4.D

Q.26 A closed wooden rectanguiar box made of 1 cm thick wood has the following outer dimensions: length |
22 am, breadth 17 em, and beight 12 cm. 1t is filled %o capacity with cement, What i the vobsme of the |
cement :n the box?

A 1488 co.em
B 3000 cu.em

Question ID : 988837888
Status :Answered
Chosen Option : 4

C 4488 cu.em
D. 2880 o em

Ans x1.D
ch
X3.A
¢4.B

Q.27 I the code for MOTHER is JRQKBU then what is the code for PRINCIPAL? |

A. MRFKZLMXI
B. SULQFLSDO
C. MUFQZLMDI
D. MRFKZFMXI

Question ID :988837903
Status :Answered
Chosen Option : 4

Ans xl'D
7(2.A
X3.B
J4.c

Q28 The only non-metal which is liquid at room temperature is -

A. Mercury
B. Bromine

Question ID :988837848
Status :Answered
Chosen Option : 4

C. Chlorine
D. Gallium

Ans 31D
Xac
X 3.A
v X

Q29 Maanch is a folk dance from - [
A. Haryana
B. Kerala
C. Assam {

Question ID :988837831

Status :Not Attempted and Mark
ed For Review

Chosen Option : --

D. Madhya Pradesh

Ans  X'1.C
xz.B
XS.A
4D
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Kerla wete publicized? Question ID :988837839
A, Endosulfm Status :Not Attempted and Mark
?:: m ed For Review
D. Maososil Chosen Option :--

Jl.A
XZ.D
XS.B
X4.c

Q.31 The HCF and LCM of two numbers are 3 and 2730 respectively. If one of the numbers is 78, find the
other number. |

Ans

Question ID :988837871

A 107 Status :Answered

B 103

C 105 Chosen Option : 4

D. 102

x1.B
XZ.D
X3.A
,4.c

@32 If A =1 and OAR =34, then ROAR = [ Question ID': 988837901

Ans

Status :Answered

A 52

Chosen Option : 1
B. 53

C. 51
D. 50

x1.B
XZ.D
W 3A
X4c

Q33 Choose the one which is different or 0dd from the following. | Question ID - 988837927

Ans

A, Alummum Status :Answered

B. Iron Chosen Option : 3

C. Copper
D. Brass

Xic
XZ.B
‘,3.0
X4.A

Q.34 Assordizg %o the Constrtuticn, the ratio between the lengh and beeadth of the nanonal tneolor should be - [

Ans

Question ID :988837840

Status :Answered

Cowpe

e
G -

Chosen Option : 1

‘/1.A L
Xac
X 3B
X 4D

Q.35 1P travelled the first balf of a joursey at 40 krn'hr md the remainmg distance at S0 kmhr, what & the

Ans

avemge speed of his trmeel? Question ID :988837878
A 444 km'hr Status :Answered
B. 5333 km/hr )
C. 45 tmbr Chosen Option : 2

D. 6 kmhr .

X 1D
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«Z.A
Xs3c
X 48

Q36 Find the LCM of 15, 25 and 29.

A. 2335
B 3337 4

Question ID :988837872
Status :Answered
Chosen Option : 3

€. 2175

D. 2375
Ans XLA
XZ.B
‘,3.c
X4.D

Q37 In 1981, ISRO launched India’s first geostationary satellite called - |

A. Aryabhata
B. APPLE
C. BhaskaraIl

Question ID :988837861
Status :Answered
Chosen Option : 3

D. INSAT 1B

Ans xl.c
XZ.A
X3.D
‘,4.3

Q.38 Which of the following was the first antibiotic discovered by Alexander Fleming in 19287 ™

A. Penicillin

B. Prontosil

C. Streptomycn
D. Tetracyline

Question ID :988837853
Status :Answered
Chosen Option : 2

Ans x1.D
‘,2.A
X 3B
X4.c

Q.39 If*+' means x, =" means =, *»' means +and %' Means — ; compute the value of the expression: [
17+6x13+8

A. 100
B, 107
C. 110 L
D. 109

Ans Xl.c
X 2.A
x3.D
v Z:

Question ID :988837906
Status :Answered
Chosen Option : 4

Q40 Which among the following is true for the given numbers? |

A. 3/8<19/73 <29/47 <17/39
B. 19/73 <3/8 <17/39 <29/47 ,

Question ID : 988837869
Status :Answered
Chosen Option : 2

C. 19/73 <3/8<29/47 <17/39
D. 19/73 <29/47 < 3/8 < 17/39
Ans x 1.C

‘,2.5
XS.A
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X 4D

Q.41 Divide 3740 m three parts in such a wary that half of the first part, one-third of the second part and coe- [
sicth of the third part are equal,
A. 700, 1000, 2040
B, 340, 1350, 2040
C. 680, 1020, 2040
D. 500, 1200, 2040

Ans x1.D
XZ.B
X3.A
‘,4.c

Question ID :988837874
Status :Answered
Chosen Option : 4

Q42 fwfi¥e SEEA (F19 T A FFoH (White Desert) Faf¥e?|
A. BFATS

B. SIFEIRy
C. 3 8 FriA 4

Question ID :988837828
Status :Answered
Chosen Option : 3

D. FifEs
Ans x1_D
XZ.B
X3.c
‘,4.A

Q.43 Which of the following Acts under the Indian Constitution is described by Article 21A2 [

A, Right to Education

B. Right to Information

C. Representation of the People
D. Right to Freedom of Religion

Question ID :988837841
Status :Answered
Chosen Option : 1

Ans ‘,1.A
Xac
X3.B
X4.D

Q.44 Which of the following monuments built by Mubammad Quli Qusb Shah i =aid 1o be bailt to
el &: KLl “Plﬂp‘?
A, Alai Minar
B. Charminar
C. Fsteh Bugy

Question ID :988837845
Status :Answered

Chosen Option : 3

D. Qutub Minar

Ans xl-C
ng
«S.B
X4.A

Q45 Which of the following is not an example of a Word Processor? |

A, IBM Lotus Symphony
B. Microsoft Word

C. Google Docs L

D. Microsoft Excel

Ans xl'c
X2.A
«3.D
X 4B

Question ID : 988837859
Status :Answered
Chosen Option : 2

Comprehension:
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Study the diagram given below and answer the questions based on it.

/\ represents Persons who like Reading
O represents Persons who like Cycling
] represents Persons who like Trekking

§
/

/ &

o
I =

36

SubQuestion No : 46

Q4 - o?
. How many persons like Reading? oudloNosssa7920
Status :Answered

A 170 Chosen Option : 2
B. 154 |

C. 176
D. 117

Ans xl_B
',2.A
x&C
x4.D

Comprehension:

Study the diagram given below and answer the questions based on it.

/\ represents Persons who like Reading
O represents Persons whe like Cycling
] represents Persons who like Trekking

/
/

/

/ &

s
/ 28 Q “\

/12

36
SubQuestion No : 47
Q4 - 3 3 - < )

. How many persons like Trekking and Reading but not Cyeling’ Question ID : 988837019
A 12 Status :Answered
B. 31 Chosen Option : 4
C. 44
D. 28
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Ans x 1B

xz.c
XS.A

‘/4.D

Comprehension:

Study the diagram given below and answer the questions based on it.

/\ represents Persons who like Reading
O represents Persons who like Cycling
] represents Persons who like Trekking

43
31
w
28
12 449
36

SubQuestion No : 48

Q;' How many persons like Reading and Cycling but not Trekking? Question ID 1988837918

A 31 Status :Answered
B. 12 Chosen Option : 3

C. 26
D. 28

Ans X1.B
XZ.D
,,3.A
Xac

Q.49 There are 90 coins, comprising of S and 10 paisa coins. The yaloe of all the coins is Rs. 7. How many §

paiza coins are there? Question ID :988837885
A SO Status :Answered
B. 34
C. :o Chosen Option : 1

D 3§

Ans ‘,1.c
X 2D
XS.B
X4.A

50 How hioh i .
@50 How high is the badminton net at the center? Question ID ;988837835

Status :Not Attempted and Mark
A S feet ed For Review

B. 5.1 feet Chosen Option :--

C. 5.5 fect
D. 4.8 feet

Ans XJ_.D
XZ.C
x:s.B
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v ZN

Q.51 Oiven below isa followed by soms fusions, You have to take the given stotement to be
true even if it seems to be at vanance with the commenly known facts and then decide which of the given Question ID :988837914
canclasions logscally follon(s) from the given statement.
Status :Answered
Statenseat:
Success carssot be ackieved without haed work. Chosen Option : 4
Condusions:

L Every hardworking person s snccesaful,
1, Every sesesasful person i» hardworkmz.
A. Only canchusica [ follows
B. Ouly conchuion [I follows

C. Both Tand 1T follny
D. Nether of them follows

Ans XLD
Xz2c
)(3.A
‘,4.5

0% Jiwa eIl w1 wHaaf| (e e Question ID : 988837892
§2. 54 55 5. 55, 54, 53 55 53 51 @& 57 Status : Not Attempted and Mark
; ’ ; ? . g s ’ : ! ed For Review
A. 53 Chosen Option :--
B. 54
C. 55
D. 52

Ans X 1A

‘,2. C

X 3D

X 4B
Comprehension:

Use the following passage for the questions based on it.

There are six flats on a floor in two rows. Out of these, three are north facing and the other three are south facing flats. The
flats are to be allotted amongst Arun. Biswajyot. Chitra. Derek, Evan and Fatima. Biswajyot gets a north facing flat and 1s

not next to Derek. Derek and Fatima get diagonally opposite flats. Chitra is next to Fatima, and gets a south facing flat.
Evan gets a north facing flat.

SubQuestion No : 53
Q.5 Except Derck and Fatima, which other pair is diagonally opposite to cach other?
3

Question ID :988837911
A, Arun and Biswajyot .
B:. Aran and Chi Status :Answered
C. Evanand Derek Chosen Option : 2
D. Evanand Chitra

Ans X 1.C
W 2A
X3D
X 4B

Comprehension:

Use the following passage for the questions based on it.

There are six flats on a floor in two rows. Out of these, three are north facing and the other three are south facing flats. The
flats are to be allotted amongst Arun, Biswajvot, Chitra, Derek, Evan and Fatima. Biswajyot gets a north facing flat and is
not next to Derek. Derek and Fatima get diagonally opposite flats. Chitra is next to Fatima, and gets a south facing flat.
Evan gets a north facing flat.

SubQuestion No : 54
Q5
4 Question ID :988837913
Status :Answered
Chosen Option : 3
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Which of the following pairs 1s exactly opposite to cach other?

A. Derck and Evan
B. Fatima and Chitra
C. Evan and Chitra
D. Evan and Arun

Ans 3 1.D
X 2A
‘,3.(:
X 4B

Comprehension:

Use the following passage for the questions based on it.

There are six flats on a floor in two rows. Out of these, three are north facing and the other three are south facing flats. The
flats are to be allotted amongst Arun. Biswajyot. Chitra. Derek. Evan and Fatima. Biswajyot gets a north facing flat and is
not next to Derek. Derek and Fatima get diagonally opposite flats. Chitra is next to Fatima, and gets a south facing flat.
Evan gets a north facing flat.

SubQuestion No : 55

Qé5 Which of the following combination gets south facing flats?

Question ID :988837912

A. Arun, Chitra and Fatima Status : Answered
B. Chitra, Biswajyot and Derck Chosen Option : 2

C. Evan, Arun and Fatima

D. Derek, Arun and Biswajyot

Ans Xl.C
‘IZ.A
KS.D
K4.B

Q.56 30 men workma S hours a day can do a task m 16 days. In how many days will 40 mgn working Shours a

day do the same task? Question ID :988837875
A 12 days Status :Answered
B. 10 days .
C. 15 days Chosen Option : 2
D. 13 days

Ans x]_,c
"2.3
';(3.A
X4.D

Comprehension:
Study the following table and answer the questions based on it.
Below is the Household Expenditure (in Thousand Rupees) per annum.

véar Housenold Expenditure
Crocery | Rent | Leisure | EMI | Taxes
2010 32 12 5 3.4 9
2011 37 13 6.5 4.5 13
2012 46 14 7-3 5.6 17
2013 48 16 7-9 6.4 18
2014 52 18 8.5 7-4 10
SubQuestion No : 57
Q5
7 Question ID :988837924

Status :Answered
Chosen Option : 4
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What is the total Household Expenditure for the year 20127

A. Rs. 89,900
B. Rs. 87,120
C. Rs. 89,100
D. Rs. 88.200

Ans Kl-B
XZ.D
X3.c
‘,4.A

Comprehension:
Study the following table and answer the questions based on it.
Below is the Household Expenditure (in Thousand Rupees) per annum.

Ve Household Expenditure

Crocery | Rent | Leisure | EMI | Taxes
2010 32 12 5 3.4 9
2011 37 13 6.5 4.5 13
2012 46 14 7-3 5.6 17
2013 48 16 7-9 6.4 18
2014 52 18 8.5 7-4 19

SubQuestion No : 58

Q.5 Expenditure on EMI forms what percentage of expenditure on Grocery for the year 20147
8 Question ID :988837923
A 11.34%
B. 14.23 % Status :Answered

C. 13.22% Chosen Option : 2
D. 1555 %

Ans xl_A
‘,2.5
x3.D
x4.c

Comprehension:
Study the following table and answer the questions based on it.
Below is the Household Expenditure (in Thousand Rupees) per annum.

Ve Household Expenditure

Crocery | Rent | Leisure | EMI | Taxes
2010 32 12 5 3.4 9
2011 37 13 6.5 4.5 13
2012 46 14 7-3 5.6 17
2013 48 16 7-9 6.4 18
2014 52 18 8.5 7-4 19

SubQuestion No : 59

Q5 i j i i 2
. What is the average spending on Leisure per annum? Question ID : 988837022

Status :Answered
g- ﬁ g,(ﬁ)gg Chosen Option : 4

C. Rs. 7,100
D. Rs. 7,400

Ans XJ_.B
)(2.c
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x4.D

Q.60 A trangle hos a perimater of 200, 1f two of its sides are equal and the third s:de 15 20 more than the equal |
sides, what is the length of the third ssde?

Ans

A 60
B. 50
C. 80
D 0 \

Question ID :988837894
Status :Answered
Chosen Option : 2

X1.A
Jz.c
X3.D
X 4B

Q61 The operating system UNIX is the trademark of - '

Ans

A. Microsoft
B. Bell Laboratories

Question ID :988837857
Status :Answered
Chosen Option : 4

C. Apple
D. Motorola

WiB
XZ.D
X3.c
X4.A

Q.62 The first large scale electrical air conditioning was mvented and used in 1902 by - |

Ans

A, Willis Carrier
B. John Gorrie

C. Stuart Cramer
D. H. H. Schultz

«l.A L

XZ.D
X3.B
X4.c

Question ID :988837854

Status :Not Attempted and Mark
ed For Review

Chosen Option :--

Q.63 The area of a triangle ABC is 63 5. vauts. Two parallel lines BE, FG, are drawn such that they divice the |
Lz segmeats AB and AC info thros equal parts. What s thearea of the quadeilateral DEGF?

Ans

A. 28 5 units
B. 35 eq unite
C. 21 5q units
D, 48 sq. unils

Question ID :988837887

Status :Not Attempted and Mark
ed For Review

Chosen Option :--

X1.A
{z.c
X 3D
X 4B

Q.64 Which of the following is the most common kidney stone-forming compound? |

A, Calcium oxalate

B. Magnesium oxide

C. Sodium bicarbonate

D, Magnesium citrate >

Question ID :988837864
Status :Answered
Chosen Option : 4

Ans x 1B
X2. C
X3. D
J4.A
Q.65 r

Question ID :988837868

Status :Answered
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Compute: (50 +0.5%20) +0.7

A 8571

B. 857.1

C: 8571

D. 72.85
Ans xl'D
‘,2.c
X3.B
X4.A

Chosen Option : 2

Q.66 Werking sogether. P, Q and R reap a field in 6 days If P can do it alooe in 10 days and Q in 24 days, n |
how many days will R aloze be able to reap the field?
A Rdys
B. 40days
C. 35 days ‘
D. 60 days .

Ans x1.A
XZ.D
Xa3c
«4.8

Question ID :988837876
Status :Answered
Chosen Option : 4

Q67 In 2015, underground glacicrs of frozen water were discovered on -

A. Mars
B. Venus
C. Jupiter L
D. Satum

Ans x‘l.C
X 2D
X 3B
«4.A

Question ID :988837852
Status :Answered
Chosen Option : 4

Q.68 A shopkeeper marks the prive of an article ot Rs. 320, Find the cost prigk sf affer allowing a discout of [
10%, he sl gaine 2076 on the oost peice

A. Rs. 240
B Rs, 280
C Ra 300
D. Rs, 264

Question ID :988837882
Status :Answered
Chosen Option : 1

Ans “LA
xgc
XS.B
X 4D

Q.69 Which leader adopted Orthodox Christianity as the official religion of Ruseia? |

A. Vladimir the Great
B. Michael Romanov
C. Ivan IV

D. Boris Godunov

Question ID :988837830

Status :Not Attempted and Mark
ed For Review

Chosen Option :--

Ans x1.D
Xac
W3A
Xa4B

Q.70 [

Question ID :988837902

Status :Answered
Chosen Option : 2
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IfRUN = 182114 and BIN = 2914, then BRING =

A. 2180147
B. 1178136
C. 31910158
D. 21910158

Ans 1.8
Jz.A
Xa3c
X 4D

71 o 1 9
Q.71 On an average, how many taste buds arc present in a human tonguc? Question ID : 988837856

A, 2000 to 8000 Status :Answered
B. 50000 to 100000 Chosen Option : 2
C. 1 million to 10 million

D. More than 10 million

Ans XLC
JZ.A
X3.D
X4.B

Q72 516x3.2= Question ID : 988837870
Status :Answered
A. 15.502 Chosen Option : 2
B. 16.512
C: 177272
D. 17.52

Ans xl'c
‘,2.3
X3.D
X4.A

.73 Choose the pair which is related = the same way 2s the svords in the first pair from the given chotces. .
Q DOG 1 KENNEL 11 BEE Question ID :988837909
NEL 11 BEE 1

A, HIVE Status :Answered

B. BARN Chosen Option : 4
C. HOLE

D. NEST

Ans Xl.B
X 2D
Xac
«4.A

Q.74 Below are given fallowwed by some h You have to take the green statements fo be
true even if they seem to be at variance with the commeanly keowa facts and thee decide which of the Question ID :988837899
gven Insions Jogically follow(s) from the given statements,

Status :Answered

§ 3 )
"m?s.,.,.. fruits are vegetables. Chosen Option : 1

B. All vegetables are plants.

Conclusions:
1. Some plants are vegetables.
1L, Some frsits are plants,
A, Only conchssion [ follows
B. Only concluson [T follows

C. Both Taxd I follow
D. Nether of them follows

Ans 1A
X 28
«3.0
X4.D
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Q.75 A tabile was sold at a profit of 10%. Ifits cost price was 5% less and it was sold for Rs. 7 mere, lbeglm’

would have besn 200 Find the cost prics of the table, Question ID :988837881
A, Rs, 175 Status :Answered
B Rs.200 )
C. Rs.250 Chosen Option : 3
D. Rs. 150 \

Ans xl,c
Jz.A
X3.D
X4.B

76 f
Q70 fomfifie PR Siafe W S Al WA TS P A7 Question ID : 988837851
A. A (Coral ) Status :Not Attempted and Mark
ed For Review
B. TSI dra
e Chosen Option : --

G. ™91% (Sponges) ‘
D. IHAFRST (Annelido)

Ans Jl.D
XZ.A
X3.c
X4.B

Q.77 wm wmaffonatey RFerTEaom (heccentrism) 7o S sy Jeaf® wa | _
e ? Question ID : 988837862

A, AN @TRRESH (MNicolaws Copesnicus ) Status :Not Attemp_ted and Mark
8. sifef#e Wiaf (Galleo Gailel ) ed For Review

C. (FEHTS (F% (Jobannas Kepler ) Chosen Option :--

0. (GBF (0P (Friedrich Bessel) i

Ans Jl.B
XZ.D
X3.c
X4.A

Q78 The ‘Father of Indian Space Program’ is - [ Question ID :988837860
Status :Answered
A. Dr. A.P.I. AbdulK‘alm Chosen Option : 3
B. Dr. VlkramA Sarahhm L
C. Dr. K. :

D. Prof. SaushDhawan
Ans x 1.D

xz.A
‘,3.8
X4.c

Q79 The filament of a llght bulb 1s made up of - ' Question ID : 988837863

Status :Answered

A. Platinum
B. Tantalum

Chosen Option : 3

C. Tungsten
D. Antimony

Ans  X'1.B
X 2D
“3.c
X4.A

Q.80 i .
Question ID :988837842
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Who amocag the following became the first founst to space by spending $20 mallion for 8 days in arbit? |
A Greg Obsen
B. Charles Simonryi
C. Denmis Tito L
D Mark Shuttleworth

Ans x1.A
ng
X3
‘,4.c

Status : Answered

Chosen Option : 4

Q.81 Pbought an article tor Rs. 1600 and sold it at a peofit of 10%. What would have been the increass m the |
profit peresnt if # was sold for Ra, 18407

A 5%
B. 1%
c 1% ‘
D. 15% L

Question ID :988837883
Status :Answered
Chosen Option : 2

Ans x1.D
‘,2.A
X3.B
X4.c

Q82 sty AfiFEG Awd (AW CiFeReE (it S &R, o fed -

A, 35fFBIE dBF (Ergaster line)

B. (FT-7WSH=  ( Cro-magnon )

C. farsEwT ( Neandertnal )

D. (AFFHF  ( Proconsul ) L

Question ID :988837855

Status :Not Attempted and Mark
ed For Review

Chosen Option :--

Ans XI.D
«z.B
X3.c
X4.A

Q83 What 1s C12H2201 also known as - (
A. Sand

Question ID :988837849
Status :Answered
Chosen Option : 1

B. Sugar ‘
C. Salt

D. Clay
Ans « 1.B
x 2.C

X3.D
X 4.A

Q84 Select the correct set of symbols:
27 3 19 10=90

Question ID : 988837908
Status :Answered
Chosen Option : 4

A %, )
5, TS S
C. +,=,%
D. X, +, -
Ans xl'B
7(2.A
X3.c
!4.D

Q.85

Question ID : 988837865

Status latestd
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Simplify: (2/7 + 3/5) + (2/5 + 2/7) ‘

A 31724

B. 24/31

C. 26/25

D. 12/13
Ans x 1.C
x 2.D
x 3.B

J4.A

Chosen Option : 4

Q8 Sclect the correct set of symbols: [
44 4 7 5=82
A s ;
B. +‘,+,-
€
Doyt
Ans XI.B o
‘,2.0
Xsc
X4.A

Question ID :988837907
Status :Answered
Chosen Option : 2

Q.87 If RO19 is divisible by 11, find the value of the smallest natural number R? |

A5
B. 6
c 17 L
D. 8

Ans XJ_.B
XZ.A
X3.c
J4.D

Question ID :988837867
Status :Answered

Chosen Option : 4

Q.88 Malini saxd, *Rohit is my maternal aunt’s mathr'!ml, soa's son”. How 1 Malin: related to Rohit? |

A. Cousm
B. Mother
C. Siater

D. Danghter

Question ID :988837895
Status :Answered

Chosen Option : 2

Ans  X1.C .
JZ.A
X 3B
X 4D

Q.89 In Tennis, hard court is the type of court whose surface is made of -/

A. Concrete
B. Clay
C. Grass \

Question ID : 988837836
Status :Answered
Chosen Option : 1

D. Carpet
Ans Jl-A

XZ.D
XS.B
X4.c

Q.90 r
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If “+' means =, *-' means =, *=" meara + and *+' means — ; compute the mlucoflb:cxpmssioo:i
36-4+7x8

AT

B. 71

C. 74
D. 75

Ans xl,c
x2.A
X3.D
,4.8

Question 1D 988837905
Status :Answered
Chosen Option : 4

Q91 The average of first 20 multiples of 12 is:

A 124
B. 120

Question ID : 988837891

Status :Not Attempted and Mark
ed For Review

Chosen Option : -

C. 126
D. 130
Ans XLA

XZ.B
«3.c
x4.D

Q.92 What is the median of the following list of numbers: 55, §3, 56, 59, 61, 69, and 317

55
56
59
61 !

0w

Question ID :988837890

Status :Not Attempted and Mark
ed For Review

Chosen Option :--

D.
Ans ‘,1.3
xz.A
7(3.D
X4.c

Q.93 The sum of digits of a twowdigit minber is 9. When e digits are reversed, the nimber decremses by 45. 1
Find $hs changed numbsr, :

A 45

B M

C. a3

Question ID : 988837866
Status :Answered
Chosen Option : 4

D 27
Ans xl'B
X 2A
Xsc
«4.D

Q94 If MENTOR = NVMGLI then PROFESSOR =

A. QSPGFTTPS
B. KILUVHHLI L

C. KSLGVTHMI
D. KILGFHHLI

Ans ‘,1.8
Xzac
X 3A
X 4D

Question ID : 988837904
Status :Answered
Chosen Option : 1

Q.95 f

Question ID :988837834
Status :Answered
Chosen Option : 4
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The national song of India was composcd by -

A. Rabindranath Tagorc
B. Bankim Chandra Chatterjee
C. Pydmmarri Venkata Subba Rao
D. Pingali Venkayya
Ans x 1.C
x 2.A
x 3.D

“4.5

Q96 Which of the following is NOT an effect of Noise Pollution? Question ID : 988837838

A. Death of Animals Status : Answered
B. Tinnitus Chosen Option : 1

C. Hypertension
D. Ozone Depletion

Ans Jl'D
XZ.C
X3.B
X4.A

Q.97 The upstream speed of the boat is 40 kmubr and the speed of the boat i still water 15 55 kmvhr. What ts [ )
the downstrear speed of the boat? Question ID :988837877

A T5kmhr Status :Answered
. 70k=m .
g. so:v: Chosen Option : 4

D. 65 keahe L

Ans xl'c
‘,2.3
7(3.A
X4.D

Q.98 Chocse the pair which is related = the same way 25 the woeds in the fisstpair from the given choices. |
TENNIS ; COURT 5 BOXING 1 Question ID :988837925
A STADIUM Status :Answered

B. RING Chosen Option : 4
C. PITCH

D. GROUND

Ans  X'1.C
X 2.A
X3.D
v ZX:

Q.99 Six years ago, fhe ratio of the ages of the two perscos P and Q was 3:2. Four years henoe the ratio of their |

apss will be 8.7, What 5 P's e’ Question ID : 988837884
A 10 yeas Status :Answered
B 12 years X
C. 14 yeses Chosen Option : 2
D, 8 ycurs

Ans  X'1.C
‘/2.8
X3D
X4.A

Q.10 Which of the following popralar tacesst destinations of India were built in 1911 fo commyensocate the viet |

o ©fKing George V and Queen Mary? Question ID :988837844
.Bm Mflndia Status :Answered
C. The Prince of Wales Msneum Chosen Option : 2

. Victona Terminus
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Ans \[1.5
X 2D
Xs3c
K4.A
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RAILWAY RECRUITMENT BOARDS
3 et als

WWW.exammix.com

RRB NTPC 2nd April 2016 Shift 3

|Roll No: e D G T

|Participants Name: Wmmm

Test Center Name: | SRXERE BXRERRER) KX BRI AB RS RRX XEREERRXI
Test Date: 02/04/2016

Test Time: 4:00 PM - 5:30 PM

Subject: RRB NTPC Graduate

1. Options shown in green color with a tick icon are correct
2, Chosen option on top right of the question indicates the option selected by the candidate

Comprehension:

Use the following passage for the questions based on it.

Rahul and Kusum are good in Hindi and Maths. Sameer and Rahul @re good in Hindi and Biology. Gita

and Kusum are good in Marathi and Maths. Sameer, Gita and Mihir are good in History and Biology.
SubQuestion No : 1

@1 Who is good in both Biology and Marathi? Ouocton 10 2088s3142T

o Status : Answered
A. Gita \ Chosen Option : 2

B. Kusum

C. Sameer

D. Mihir

Ans x 1.0
J'_f A
X aB
Xac
Comprehension:

Use the following passage for the questions based on it.

Rahul and Kusum are good in Hindi and Maths. Sameer and Rahul are good in Hindi and Biology., Gita

and Kusum are good in Marathi and Maths. Sameer, Gita and Mihir are good in History and Biology.
SubQuestion No : 2

Q.2 ?
Who is good in only Hindl, Marathi and Maths? Question 10 : 2055231426

Status ; Answered
A. Sameer Chosen Opticn : 4
B. Rahul
C. Kusum
D. Gita
Ans x 1.A
X 2.0
X 3.8
vac

Comprehension:

fileiiC /Users/Raja%20G.S/Downlcads/Qp%20{ 2) htmi#
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Use the following passage for the queslions based on ii,

Rahul and Kusum are good in Hindi and Maths. Sameer and Rahul are good in Hindi and Biology, Gita

and Kusum are good in Marathi and Maths, Sameer, Gita and Mihir are good in History and Biology.
SubQuestionNo: 3

Q3 Who is good in Maths, Biology and Hindi?

Question ID : 2055231428
Status : Answered

A. Gita Chosen Ootion :1

B. Rahul
C. Sameer
D. Mihir
Ans “7 8

X 2a

X ac

X ap

Q4
Given below is a statement followed by some conclusions. You have to Question D :2055231429

take the given statement 1o be true even if it seems to be at vanance Status ‘Answered
with the commonly known facts and then decide which of the given Chosen Option.: 4
conclusions logically follow(s) from the given statement.
Statement:
Heithik, in spite of his busy schedule, finds time to rest.
Conclusions:
I. Hrithik is an organized person.
Il Rest s the most important thing for a busy person.
Decide the right option from below.
A. Only conclusion | follows
B. Only conclusion Il follows
C. Beth | and Il follow
D Neither of them follows

Ans 31
vzo
Xac
Xas

Q5 Which among the following is true for the given numbers?

Question ID : 2055231382
A.13/33 < 32/47 < 20/47 < 25/27 Status : Answered
B. 13/33 < 20/47 < 25/27 < 32/47 Ghosen Qekon 2
C.13/33 < 20747 < 32/47 < 25/27
D. 20/47 < 13/33 < 32/47 < 25/27

Ans X'J‘
e
X a0
Xas

Q6 The colour of solid lodine is —

Questlon ID :2055231363
Status : Answered

A. White Chosen Option :1

B. Coloriess
C. Purplish Grey to Black
D. Reddish Brown

file:liC /Users/Raja%20G.S/Downlcads/Qp%20{2) hmi#
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81212016
Ans X1 A
Xa2ap
Xas

Wic

Qp%20(2).htm|

A. 300/7
B. 300
C. 320/23

D. 320
Ans X' 1.8
Xzc
X 3D
v ZN

Q7 Find the LCM of 25/7, 15/28, 20/21.

Question ID : 2055231386
Status :Answered
Chosen Option :4

— e

A. Chandragupta
B. Ashoka

C. Brihadratha
D. Shatadhanvan

Ans X 1.0
Xza
Xas
vac

Q8 \Who was the last emperor of the Mauryan Dynasty?

QUQB.QI“B 12055231346
. Stalus : Answered
Chosen Option :3

AS0N
8.6 #
c.90 N
D% N

Ans X 18
Xac
v &N
X4p

0.9 xhsnm.ammmmmmamm’s3lm.uam:mnmnum
Codt Dy W Schoad bulsing Is 30 & hong. How wl B e uldig 7

Question 1D : 2055231409
Slatus : Not Attempted
Chosen Option ;==

and 7 tables?

A = 330
8, Rs. 400
C R 500
D Rn 550

Ans ch
X z.a
Xas
Xap

0103(mnw?lwmcmﬂg 700 and 5 chaies and 3 mitkes cost Rs, 1500, What & e cost of | chalr

Question ID :2055231401
Status : Answered
Chosen Option :1

#. 35
8. 70
C. s
D. 140

Ans XLC
e

filelIC /Users/Raja%20G.S/Downlcads/Qp%20{ 2) hmi#
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Status : Answered
Chosen Option : 2
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XA
Xan

Q1zwmm.hcmmamn|sammscmmtawhhnlsmhmmam
SR ol LA I Dt e e Y Question ID : 2055231391

A 1073 civs Status :Not Attempted
B. 36/5 days

C. 5736 days Chosen Option ;=
0,15 des

Ans 1.C
2.B
3.D
4. A

Naote: For this question, discrepancy is found in question/answer. So, Th
is gquestion is ignored for all candidales.

0.13112015. & Naw spacks of the genus Homo wic decoverd in e Dinakodl Chamber
o e Fieng Su0 G ek, Oade of Hussotng, Souls Atica Question ID : 2055231367
:: m m Status : Not Attempted
. Homo hahie: Chosen Option : =
D Homo. niolenets

Ans J'.A
Xac
Xap
X 4B

14 ¢
o Given below 1s a statement followead by some conclusions. You have to Question ID : 2055231430

take the given statement to be true even if it seems to be at vanance Status : Answered
with the commonly known facts and then decide which of the given Chosen Option : 4

conclusions logically follow(s) from the given statement
Statement:
All hard-working peopla are successful.
Conclusions:
1. All successful people are hard-working.
Il. Only hard work can quarantes smcess;gg;i;;a
Decide the right option from below.
A. Only conclusion | follows
B. Only conclusion |l follows
C. Both | and Il follow
O. Naither of them follows

Ans X' 1.8

Q.15 In @ web teowsar, which of the following fs Lsed to save frequently visied webeites?
Question ID : 2055231374

A. History

B. Task Marager Status : Answered
C. Favories Chosen Option :2

0. Save as

Ans X' 1.8
X 20
X 3.A
vac

Q.16 The Khajwaho Group of Moruments = & UNESCO World Herliage Ste located In-

Question ID : 2055231347
A. Madhya Pradesh

8. Uttar Pradesh Status : Answered
C. Dnarakhand Chosen Option :4
D. Chattisgarh

filelIC /Users/Raja%20G.S/Downlcads/Qp%20{ 2) hmi#
Downloaded from - www.exammix.com




VISIT www.exammix.com FOR LATEST EXAM UPDATES, NEWS & STUDY MATERIALS

8122016 Qp%20(2).htm|
Ans X iC
X 20
Xas

Wan

QA7 ¥ ' mens w0 means 5t meoms v ot <! mens — p compote the vake of the exgression
B-9r4xs Question 1D : 2055231420

A .
i Status :Answered

C. 26 Chosen Option :1
0. 23

Ans «‘.8
Xac
Xano
Xana

Q18 On which lake is the Golden Temple located? Question ID:2055231359

Status : Answered

A. Amrit Sarovar Lake Chosen Option 3

B. Golden Lake
C. Harike Lake
D. Sukhna Lake
Ans 1D
Xa2s
WA
Xa.c

Q1gllmmmmmnmmnoo|1:!5mmﬁimhn.aw.ﬂmmmﬂdn”¢-_;ym.

A 1200 Question ID : 2055231389
S Status : Answered
G, 000

Chosen Option ;1

Ans U;m'.c
X 28
Xaa
Xanp

Q20 jf A=1 and PAT =37, then PART = Question ID : 2055231417

Status : Not Attempted

A. 55 Chosen Option ; --

B. 57

C. 51

D. 54
Ans «-./\
Xzp
Xac
Xas

Q.21 A positive numbar axceed its positive square root by 30. Find the aumber,

A 16
B. 36
C.25

Question ID : 2055231399
Status :Answered
Chosen Option :4

D. 49

Ans X"-A
Xac

filelIC /Users/Raja%20G.S/Downlcads/Qp%20{ 2) hmi#
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Xap
4B

Q-zznwmuumvmm/nhumudnwwumwumunn-lu
the secord ot ol he jumey, What Is the mvesge speed of the Gar for the sntee fourmey?

A 454 e
8, 36,36 e
. 505
D. 45.45 wn/Te

Question ID : 2055231393
Slalus : Answered
Chosen Option .4

Ans (1 C
X 2o
Xas
W an

Q.23 In 2016, who has parreced with ISRO 10 use space technology for “predictive policing' 7

A. Delbi Police

B, Mumbai Pdlice

C, Channal Metropoitan Police
0. Kolkata Polce

Question ID : 2055231377
Status : Not Attempted
Chosen Option ;-

Ans (¢ D
WA
X sc
Xas

Q24 Which of the following technological inventions came first?

A. Telegraph
B. Telescope

~Question ID :2055231368
Status : Answered
Chosen Option :2

C. Telephone
D. Teletype

Ans X1_c
e
XA

X 4D

Q.25 s Firoduced Seema 3 ber mother's faihed's only sofi's, dagghier, How & Rits rested to Seema?

A, Cosin

B, Patemad Aurt
[ T

0. Matomad Aum

Question ID : 2055231410
Status : Answered
Chosen Option .4

Ans X <D
Xzs
Xac
W an

26
¢ Which art form was Mrnnalini Sarabhai associated with?

A Pattachitra
B. Tanjore Painting

Question ID ;2055231357
Status : Answered
Chosen Option :3

C. Bharatnatyam
D Nadhubani Painting

Ans xLA

Q.27 [
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Chotda the par which is sdiad 0 1he Same way as the words in he fet par fomn the gien choices.
INDIA : TIGER = USA ¢

A UNCCAN
B. BALD EAGLE

Ans 1.D

Question ID : 2055231424
Status :Not Attempted
Chosen Option : =

Q.28 The dimensions of a luggage box ase 80 cm, 60 cm and 40 cm. How maay 2q. cm of
cloth 15 required to cover the box?
A 10400 sq. cm
B. 20800 sq. cm
C. 20400 sq. cm
D. 10200 =q. cm

Ans (1 p
Xzac
X 3o
v 2%

Question ID ;2055231403
Slatus :Not Attempted
Chosen Option : ==

ngmmdmunm—mtmuio.wnmmmm he numee oy 54,
Find e changed runbar.

AT
o. 2%
o8
(P30 14

Ans  of < 1
X 2.
Xap

Xac
——

“Question ID :2055231380
Status : Answered
“Chosen Option :4

Q.30 ™ icoms of A 403 8 e in R fso o 3:2 and B expardhive: g6 Rs 18,000 mnd Re. 10,000
respecinly, A swmes B, 4000, then B's mvings wil be)

A.Rs. 4000
B. Rs, 2000
C. R, 5000

D. Re, 5000

Ans  X'1.D
Xzc
vas
Xa.a

Question 1D ;2055231388
Status : Answered
Chosen Option :1

Q.31 Gowwesh s, “Andll & oy pateml gandisther's orly n-tow's oty ", Gamesh s
sisgh 600 has Oy o6 skEng, Lo, 8N eder Sk How Is Ganesh seed 10 Angl?

A Maame Uncky
B, Paomad Unow
C. Cousn

0. Naphsw

Question ID ;2055231411
Status : Answered
Chosen Option :3

Ans (1.8

Q.32 Which of the following type of rays does NOT penetrate Eanh’s almosphere?

A. Visible Light
B. X-Rays

C. Ultraviclet Rays

Question ID : 2055231361
Status : Answered
Chosen Option :2

D. Radio Waves

Ans X1 A
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Xzac
3B
X 4.0

33 simplify: (2/9+ 3/5) =(2/9+2/5) Question ID :2055231384
Slalus : Answered
A. 47/48 Chosen Option :4
B. 47/43
C.43/47
D. 41/47
Ans 1.C
2.D
3.B
4.A

Note: For this question, discrepancy is found in question/answer. So, Th
is question is ignored for all candidates,

—
Q.34 The first caplain of the Indian Cricket team for One Day temational was -
Question ID 12055231351
2: gfnn:”::::a ﬂStg{f%It,,_,:Ansmred
C. Kapil Dev Chosen Option :1
D. C K Nayudu

Ans 1D
X 28
Xac
aa

Y o e
msmmwamguﬂrgnnunmm. nmwdammmm\mﬂ%lmm
st Is cabed - Question ID :2055231371
:m: m“'" Status : Answered
C. Cultral Wdependanca Chosen Option : 2

D. Cubbanl i cagaadenon

Ans (1D
X 2.
Xac
v 2N

Q.36 Rearrange the following ,xima sentences to make a meaningful one:
P are inhibiling pm@;{ Question ID :2055231415
Q: they look for creative Status :Answered
R: rather than the conventional solution of outsourcing Chosen Option :4
S: solutions to problems that

The proper sequence should be:

A. SRQP
B. QSPR
C. PQRS
D. QRPS

Ans (1 C
v R
Xap
X an

q37thmmmuaomlzwnmnm.llmmmmwu.mm

e Wil hey Gike ) comgkia te b7 Quastion ID : 2055231390
A & caps Status :Answered
8.5 aus
C.4 oy Chosen Option :3
D) crm
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Ans X' 1.8
vac
Xaa
Xa.p

Q‘za In Jurusy 2096, lndkin Dolence Mibkou hotiied e world's kpest Ui-coow on o tdea fag-poa & -

A New Doti
8. Jaipur
C. Roschi
D Ly

Ans X1 A
Xzs
Wic

Question 1D :2055231340
Status :Answered
Chosen Option :4

X a0

Q.39 What is the median of the following list of numbers: 5,3,6, 9,11, 19, and17.
ok Question 1D : 2055231406
8. 6 Slatus : Answered
G.9 Chosen Option :2
D. 1

Ans X1_C

QAoAmnmhanﬂmu15!.lmm.BwﬂlhﬂhAmawﬂﬂ!W.wﬁum
R, 552, How fach G0 A poy fo Ba loy gy ¥

A Rs. 2400
B. As. 2560
C, e, 2700
D, Rs, 2800

Ans X« ¢
Xzs
X 3D
W an

Question ID : 2055231397
Status : Answered
Chosen Option : 1

Q41 Which of the following is N@T a Greenhouse Gas?

A. Nitrous Oxide
B. Methane
C. Sulphur Hexafluoride
0. Copper Dioxide
Ans X« ¢

Xzs

v £%

Xana

Question ID : 2055231353
Status : Answered
Chosen Option : 2

Q42 On which festival did the Jallianwala Baug Massacre take place?

A. Baisakhi

B. Guru Nanak Jayanti
C. Ciwaii

D. Holi

Ans  X'1D
WA
Xas

filelIC /Users/Raja%20G.S/Downlcads/Qp%20{ 2) hmi#
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Xac

Q43 The 2016 World Economic Forum Annual Meeting took place in-
A. Germany
B. Switzerland
C. France

Question ID :2055231342
Status :Not Attempted
Chosen Option : --

D. United Kingdom
Ans X1 p

X2a

v3s

Xa.c

M - - - -
Q44 Which of the following is NOT a computer virus? Question ID : 2055231372

Stalus : Answered

A« AIDS Chosen Option :2

B. Anna Kournikova

C. Brain

Q.45 In the Republic of India, the administrative head of a Union Terfitory is —
Question ID : 2055231356

Slatus :Answered
Chosen Option :1

A. Lieutenant Govemor
8. Governor
C. Presklent

D. Prime Minister
Ans «'A

X 20

X a8

Xac

Q.46 The Jayskwadl Propat, which is cne of thaclarest Frigation projects Is an the river -
x Question ID 12055231343

B, Narmada Status : Not Attempted

C. Kitshna Chosen Option : -
D. Tapi

Ans X' 1.c
X 2o
Xas
WA

7 . - . . . .
QA7 Which of the following is the largest glacier in India? S ——

Status : Answered
Chosen Option : 4

A. Gangotri Glacier
B. Drang Drung Glacier

C. Siachen Glacier

D. Shafat Glacier
Ans 1.0

Q48 [
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Which was the firsi women's sport to be introduced in the Olympics?

A. Gymnastics

B. Volleyball
C. Golf

D. Badminton
Ans «'_C

X a8

X ana

X 4.0

Question ID : 2055231350
Status :Not Attempted
Chosen Option @ =

QAgAmmnmmmmdnmmmmmdu4atunmmmlsmn
Pe fom of a dicke, whit i the ama enclssd by H?

A 264 =@, om
B 616 =3, o=
C. 488 wy. o
0,492 @, om

Ans J'~B
X2a
Xap
Xac

Question ID : 2055231402
Status :Not Attempted
Chosen Option : -

— e

Q.50 What will Ra. 40,000 amount 10 10 2 yesrs st the rae of 209 p.a,, of intereet is compovaded yearly?

A_Rs 48,620
B, Rs, 88,564
C. Rs. 57,600
D. Rs. 60.000

Ans X1.A

~Question 1D 12055231394
- Status : Answered
Chosen Option :3

Q.51 How lcog wil & sum of money tke w0 deuble, If B B rwesed @l 9.03% P Sipledimeest?

A, 17 years
B. 14 yoars

C. 1 yesas
D. 12 yoars

Ans X 1.8
vzc
Xanp
X 4.

Question ID : 2055231395
Status :Not Attempted
Chosen Option @ ==

Q.52 From 1337 to 1453, who were the main combatants in the Hundred Year's War?
A, Kingdom of Germany and Kingdom of France
B. Kingdom of Germany and Kingdom of Italy
C. Kingdom of France and Kingdom of Spain
D. Kingdom of England and Kingdom of France

Ans X1 A
Xzc
v &N
Xas

Question ID : 2055231345
Status :Not Attempted
Chosen Option ;-

Q.ssAlmumamwymmlommummo«n'&nmsuﬂmmtm
& 25 m/a?

A 300 m
B.250 m
C.320m

filelIC /Users/Raja%20G.S/Downlcads/Qp%20{ 2) hmi#
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Q.54 Goozle, = partnersiup with the Rashway”s tel wing RailTel. introduced the first pablic Wi-Fi senice at the

Questlon ID : 2055231341
Status : Answered
Chosen Option :2

Q.55 If the pH value of a substance is lower than 7, it would be considered as -

A. Neutral
B. Base
C. Acid
D. lon

Ans x1_o
Ve
Xaa
Xas

Question ID : 2055231364
Status : Answered
Chosen Option :3

Q.56 In 2013, the first human liver was grown from stem cells in -

A. Japan
B. USA
C. Germany

D. France

Ans 31D
vza
Xac
Xas

Question ID - 2055231369
Status :Not Attempted

~Chosen Option ;-

Q57 tmouuammlzmwlrmmmmanaﬁq&uhmmmm
Mol feat £ 12 m, Ind e dstance Dotweon thair wps.
Allm
8.12m
c.lam
D14 m

Ans x-,.

X
~N
o m o >

Question ID :2055231404
Status : Not Attempted
Chosen Option =

Q.58 In which state is the World Heritage Ste ‘Basilica of Bom Jesus’ located?

A. Goa

B. Andhra Pradesh
C. Tamil MNadu

D. Kerala

Ans ch
X 28
vaa
X a0

Question ID 12055231360
Status :Not Attempted
Chosen Option : -

filelIC /Users/Raja%20G.S/Downlcads/Qp%20{ 2) hmi#
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Status :Answered
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If PLUTO = QKVSP, then SATURN =

A. TZUTEM
B. TATUTM
C. TZUTRO
D. RZUTSO

Q.60 1f P713 is divisible by 11, find the vaiue of the smallest natural number P?

A.5
B. &

Question ID :
Status :
Chosen Option :

2055231381
Answered
3

c.7

D.9
Ans X c A
Xac
v EN
Xas

Q.61 If *+7 means x, ' mmen v, X e v el ST means = § comoum e vk of i Seeesson:
15+9%10+6

A. 140
B. 190
C, 145
0. 130

Question ID :
Status :
Chosen Option :

2055231421
Answered
1

Ans «‘.A
X 20
Xac
Xas

Q.62 Which of the following Is NOT a rich source of Calcium?

A. Cheese
B. Collard Greens

Question 1D :
Status :
Chosen Option :

2055231365
Answered
1

Q.63 Poring st 5 phetograeh, Famesh sakd, “He & Asbwl, my brother's son's ooly goleeral uncle’s wite's
beoothes ™. How B Remdl misied 10 Ranesh?

A, Brotwr—in-law
B. Browwe

C. Cowsiny

D. Son

Question ID :
Status :
Chosen Option :

2055231412
Answered
3

Ans x-,‘c
X 2o
J'J.A
Xas

Q.64
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Who was the first Indian to become a MNobel Laureale?L Chosen Option ;2

A. Rabindranath Tagore
B. Mahaima Gandhi

C. C. V. Raman

D. Mother Teresa

Ans  X': ¢
v
Xas
X4

Q.ssmmwmammdnmnmvnynﬂnvmﬂ&hmmﬂmnmmnuﬁ.
OPTHALMOLOGIST : EYE 11 NEPHROLOGIST Question ID :2055231440
A HERVOUS SYSTEM Status : Answered
8, UVER
L RREY Chosen Option : 4
0, STOMACH

Ans xto

Q.66 Indian bom Shiva Ayyadurai Is associated with the invention of - )
Guestion 1D 12055231373

A. Email Status : Not Attempted
B. Internet ‘Chosen Option : --

C. Keyboard

D. Mouse

Ans « A
X 2.0
Xas
Xac

Q.67 Below are givea statements followed by some coocﬁums.,Y'ou have to take
the given statements to be true even if they seem to be atvariance with the
commonly known facts and then decide which of the given conclusions
logically follow(s) from the given statefushis

Question ID : 2055231414
Status : Answered
Chosen Option .1

Statements:
A All boys are monkeys.
B. Some plaats are moiikeys.
Conclusions:
I Some monkeys are boys.
II. All plants are boys.
Decide which of the below conclusions logically follows from the given
statements.
A Only conclusion I follows
B. Oaly conclusion II follows
C. Both Tand IT follow
D. Neither of them follows

Ans «-‘/\
X 2o
X as
Xac

Q.68
Question ID : 2055231405

Status :Answered
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Tha svaragn of 11 msuts B S50, The avamge of e ficd 6 mauls is 49 and that of the lad & eals i
2. What K e 6 wan?

A 4B
8. 51
<50
D. 44

Ans 1.8
X 2o
Ve
Xa.a

l

Chosen Option :3

Q.69 5036 x 3-6 =

A. 19.296

B. 18.946

C. 21.996

D. 20.26
Ans  J - A
Xz2c
Xap
Xas

Question 1D : 2055231385
Status :Answered
Chosen Option :1

Q70 Compute: (18 + 2x3,3) = 0.003

A. 11200
B. 5100
C. 1120

D. 1610
Ans 1.A

2.C
3.B
4.D

Note: For this question, discrepancy‘i,s_ﬁéund in questian/answer. So, Th
is question is ignored for all candidates.

Question ID : 2055231383
Status :Not Attempted
Chosen Option ; =

-— -
Q71 A bydde 1 m forg b wanng agnel n vl sl Fmskes an angle of 607 wifh the ground, How f
5 the %ot of T bdder fom he wol?
A Sm
B B.64m™
C.W.32m
D.15m

Ans x'.,a
vea
Xa.c
X 4D

Question ID :2055231408
Status : Not Attempted
Chosen Option ; -

Q72

filelIC /Users/Raja%20G.S/Downlcads/Qp%20{ 2) hmi#
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Status : Answered
Chosen Option :3
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Givan below is a statemant followed by some conclusions. You have to
take the given statement to ba true evan if it seems to ba at variance
with the commonly known facts and then decide which of the given

conclusions logically follow(s) from the given statement.
Statement:
Sachin Tenduikar was the greatest batsman in Indian Cricket.
Conclusions:
|. There will be no other batsman greater than Sachin
Tendulkar in
Indian Cricket.
II. Sachin Tendulkar 1s the greatest batsman in the world.
Choose the right option from below
A. Only conclusion | follows
B Only conclusion Il follows
C. Both 1 and Il follow
D Neither of them follows

Ans X' 1.8
v 3
X 3.A
Xa.c

Q.73 B Xnuary 2016, he Unicn Cabindt approwed 1 pooposal of Mo Minkay o Powdr for asendnents n tha
Tad¥ Polcy wih e foous 00 & Ei Which of e follwieg B HOT 4 pat of ha & Es? dﬁeslion ID :2055231354

A Ekcaicty for ol :
B, Erméronment %r rustsinatie Ak Slatus . Answered

©. Pivon of dong busiess o st IFnesimets Chosen Option :4
0. Erowring  sffoschable eloctrical goody to o

Ans X< c
Xas
Xaa
v N

N
0.74ommmmmummnnmmnmmmq‘wtmpmnmmum.
CRIGKET : PITCH : SKATING: Question ID ;2055231441
e Slatus : Answered
<, couRT Chosen Option :3
D. RNG
Ans X 1C

X2
Waa
Xa.n

Q.75 Below are two statements. You have to take the given statements to be true
Question 1D : 2055231413

Status :Answered
Chosen Option : 4

even if they seem to be at variance with the commonly known facts.
Statements:
I Some trees are buildings.

I1. All butldings are parrots.

Decide which of the below conclusions logically follows from the given
statements.

A, All parrots are trees

B. All parrots are buildings

C. Some parrots are buildings

D. No parrot iz atree

Ans X< D
X 2.a
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B, In shy oosovakn
C. Exile consanaton

Ans XD
X8
v AN
Xac

D. Estagod consanvaiinn

Q.76 Fo-kcstion of endangard of fae spacka Wom ISl NAUG NENAL 0 (POBCIS afeia equppad foc thak
polection and presenaion |5 caliad -

Ao BX e consaeviion

Question ID : 2055231370
Status : Answered
Chosen Option .3

A. UK

B. USA

C. ussR
0. Australia

Ans 31 A
X 2.0
Ve
XaB

Q.77 From which courtry & the ‘Fundamental Duties’ of the Inan Constitution borowed?

Question ID ;2055231355
Slalus : Answered
Chosen Option :3

8. Sikkim

D. Assam

Ans x-,,c
X 2.0
Xas
W

A. Himachal Pradesh

C. Untar Pradesh

Q.78 In India, the highest cricket ground above sea level lles i which siate?

Cuestion ID : 2055231352
Status : Answered
Chosen Option :4

Comprehension:

Ans « 1.A

A. Rs. 17.04 Lakhs
B. Rs. 17 Lakhs

C.Rs. 17.4 Lakhs
0. Rs. 16.8 Lakhs

file:liC /Users/Raja%20G.S/Downlcads/Qp%20(2) hmi#
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Company Z over the.years.
Expenditure Items for Company Z
Year
Salary Fuel and Bontis Interest Taxes
Transport on Loans
201 | 412 227 15 133.4 98
2012 | 557 233 16.5 142.5 138
2013 | 656 245 173 151.6 174
2014 | 6380 260 17.9 166.4 188
2015 | 720 284 18.5 179.4 198
SubQuestion No : 79

‘;7 What is the average amount of Bonus per year?

Study the following table and answer the questions based on it.

Given below is the list of expenditures (in lakh rupees) per annum of

Question ID : 2055231437
Status : Answered
Chosen Option : 2
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Xzc
X 3D
Kas

Comprehension:

Study the following table and answer the questions based on it.

Given below is the list of expenditures (in lakh rupees) per annum of
Company Z over the years

Expenditure Items for Company Z
Year Salary Fuel and Bonus | Imterest |
Transport on Laans
2011 | 412 227 15 133.4 g8
2012 | 557 233 16.5 142.5 138
2013 | 656 245 17.3 151.6 174
2014 | 6380 260 17.9 166.4 188
2015 | 720 284 18.5 179.4 198

SubQuestion No : 80

Q.8 What is the total expenditure of Company Z in the year 20117

0 Question 10 : 2055231438
A. Rs. 897.2 Lakhs Status : Answered
B. Rs. 827.5 Lakhs Chosen Opticn : 4

C. Rs. 885.4 Lakhs
D. Rs. 727.1 Lakhs

Ans x1_|_)
X 2.
X 3B
Ja;:

Comprehension:

Study the following table and answer the questions based on it.

Given below is the list of expenditures (in l1akh rupees) per annum of
Company Z over the years,

Expenditure Items for Company Z
Year Sy Fueland - Interest T
Transport on Loans
201 | 412 227 15 133.4 a8
2012 | 557 233 16.5 142.5 138
2013 | 656 245 17.3 151.6 174
2014 | 680 260 17.9 166.4 188
2015 | 720 284 18.5 179.4 198

SubQuestion No : 81

Q.8 What ks the expenditure on Foel and Traosport 25 2 percentage of expendirure oa Sakary for the year 20127

1 A 41.5% Question ID : 2055231439
S Status : Answered
i Chosen Option :1

Ans ‘, 1A
Xz
X3¢
Xas
Q82 (
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The cost of 2 pencl, 4 pons and 8 ofcens is As. 12 and the oot of § goss, W0 poncls and ¢ erascs
& As. 36, How much wil 3 panuls, 3 pens and 3 oracens cod?

A Ra, 10
B. f&3, 15
C.Rs, 12
D. s, 0

Ans «'.C
X 28
Xana
X a.n

Question ID : 2055231400
Status :Not Attempted
Chosen Option @ =

Q83 |f BEAR = YVZI, then BUILDING =

A. ATHKCHMF
B. YFROWRMT
C. YFSWOSMR
D. ATHKCHMT
Ans x 1A
Xac
Xan
vae

Question ID :2055231419
Status : Answered
Chosen Option : 4

=

Q84 What is Geotropism?

A. Growth of plants in response to Gravity
B. Growth of plants in response tc Sunlight
C. Growth of plants in response to Nutrients
D. Growth of plants in response to Waer‘

Ans x-l‘o
Xzc
Xas
v W)

_Question ID : 2055231366
Status : Answered
Chosen Option :3

Q.85 ¥ Me ool pice of 120 wbcks s equd © e Glig, pioe of 50 aioes, g e (KU peca,

A 33.33%
8. 40%
G, 50%
D. 80%

Ans X' 1D
X 2.A
Ve
Xas

Questlon ID :2055231396
Status :Answered
Chosen Option :2

Q.86 In 2015, ISAO conducted 1% satlite-besed waming system tiel for Indian Rellways n-

A Mumbad
B. Ahmadebad
C, Kolkata

Ans ;(OG:A
X 20
Ve
Xac

Question ID : 2055231376
Status : Not Attempted
Chosen Option @«

qy whin croad 1o GBI dunamo.

0.87 In 1831, eecuiclly becama vatie & use in

A Barjamin Frankin
8. Alessandeo Vaita
. NMichaei Faraday
D, Thomas Edson
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Questlon ID : 2055231379
Status : Not Attempted
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L Chosen Option : -

A 25.24.7.24-1521-19
B. 25.26-7.26-15.21-20
€. 25.24-8.24-1521.19
D. 25-26-8-26-15-21-20

Ans X"A
X 2o
Xac
Vs

Q.88 ! RAILWAY i coded a5 24-7-15-18-29-7-31then how will you code STATION?

Question ID : 2055231416
Status : Answered
Chosen Option : 4

B. +
C. t

Ans X1
Xzc
v ER
X 4.

A. X, —5 =

D. s x, +

Q89 Select the correct set of symbols:
64 4 5 8=288

Question ID : 2055231422
Status :Answered
Chosen Option : 3

A. 14#1
B. 185
C. 13
D. 145

Ans X1_D

Comprehension:
Study the diagram given below and answer the questions based on it.

/\ represents Students who have chosen Arts course
O represents Students who. have chosen Science course
] represents Studenis whe have chosen Dance course

36

SubQuestion No : 90
‘-':)-9 How many siudents have chosen the Science course?

Question ID ;2055231435
Status : Answered
Chosen Option : 2
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vza
X3c
Kas

Comprehension:
Study the diagram given below and answer the questions based on ii.

/\ represents Students who have chosen Arts course
O represents Students who have chosen Science course
[]represents Studenis who have chosen Dance course

62
23

35 43

36

SubQuestion No : 91

Q,gllowmsmmmdmeu Derce course and Scence course buk not te Ars course?
1 _aas Question ID : 2055231434

B. 44 Status : Answered
c. 12

D. 23 Chosen Option : 1

Ans ,ya
X 20
Xac
Kaa

Comprehension:

Study the diagram given below and answer the questions based on it.

/\ represents Students who have chosen Arts course
(O represents Students who have chosen Science course
[] represents -Students who have chosen Dance course

62
23

35 43

36

SubQuestion No : 92

Q.9 How meany studerts have chosen Ams course and Science course but not te Dance course?

2 a3 Question ID :2055231433
B.12 Status : Answered
[R5 R
Siaa Chosen Option :1
Ans o 1 A
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Q.93 When an object thrown straight upwards gets 10 the top of its path, iis

A. Velodity 15 zero and s acceleration is zero
B. Veloctty Is zero and its acceleration is about 10 m/s?
C. Velodty is 10 m/s and its acceleration is zero

Question ID : 2055231362
Slalus :Not Attempted
Chosen Option : ==

D. Velodity i5 10 m/s and its acceleration is about 10 m/s?

Ans X 1C
X 20
JS.B
Xa.a

Q94 Select the correct set of symbo!s:
21 9 13 7=196

A.’C, e R
B-+9+s—
Bt 3 =3y =
D-x9 N

Ans x-,.a

Question ID : 2055231423
Status : Answered
Chosen Option :4

Q.95 Which of the following gases in air ts responsible for the discolortion. of Brass?

A. Hydrogen Sulphide
B. Carbon Dioxide

C, Narogen
D. Carbon Monoxide

Ans X' 1D
WA
Xas
Xac

Question ID :2055231378
Status : Not Attempted
Chosen Option : --

Q.96 Choose the one which i§ different or odd from the following.

A. Dal Lake

B. Sambhar Lake
C. Vembanad Lake
D. Wular Lake

Ans «‘.B
Xzc
Xap
Xana

Question ID : 2055231442
Status :Answered
Chosen Option :3

Q.97 What is the mode of the following st of numbers: 2. 4, 5, & 5, 4, 3, 5, 3. !, and 77

Al
B, 4
C. s

Dz
Ans x1_3
JZ.C
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Question 1D : 2055231407
Status :Answered
Chosen Option : 2
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XA
X 4.0

Q98 J,din’s national motto, Satyameva Jayate (lit. “Truth alone trinmphs™), is a
mantra from the ancient [ndian scripmre -
A. Rigveda
B. Mundaka Upanishad
C. Bhagavad Gita
D. Matsya Purana

Ans X"D
X 2a

Xac
Wvas

Question ID : 2055231349
Slalus : Answered
Chosen Option .4

stpmummmawwmnuumutw.ﬁmmmmmmmhn
prodh porcent I & was S0l My Rk, 4607

A 5%
a. 10%
C.12%

Ans 1.B

Question ID :2055231398
Status :Answered
Chosen Option : 2

0
A. IRNSS 1D

B. IRNSS 1E
C. VELOX-C1
D. TELEOS-1

Ans 1D
vzs
X aa
Xac

Q.10 In 2016, ISRO successfully launched its fifth navigation satelite called —f

Question ID : 2055231375
Status : Answered
Chosen Option :2
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